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Sl. No.1
QBID:1007026

Choose the appropriate preposition to complete the sentence.
We have been lling 1n this eity ——— 2010.

(1) for

(2) since

(3) from

(4) about
Freferfaa 4 9 =F -w1 g™ s7s 27
(1) (I - =R

(2) @M (F9%FA1) - &M

(3) BL(FM) -

(4) ¥9 (FF) - 99

1[Option ID=1601]
2[Option ID=1602]
3[Option ID=1603]
4[Option ID=1604]

Sl. No.2
QBID:1007027

Identify the meaning of the underhned 1diom from the options given.

Sonal always gives a cold shoulder to Ritesh because of his anobbish behaviour.

(1) 1insults him whenever she meets him
(2) argues with him on any 1ssue
(3) shouts at him whenever she sees him

(4) tries to be unfriendly to him

erfetfiaa # 4 3o Teadma &H —H1 916 393 27




() oeae
(2) Uf=o=

(3) sfdari
(4) Fafmies

1[Option ID=1605]
2[Option ID=1606]
3[Option ID=1607]
4[Option ID=1608]

Sl. No.3
QBID:1007028

Choose the correct option to make a meaningful sentence

Sasha that she would get a part in the inheritance left by her grandfather.

(1) has hoped
(2) 1s hoped
(3) had hoped

(4) have hoped

= 1 o =1 g= 11 &1 faetm fifso

- H-IT
(A) TUETe™ O FeFEggdzmad
(B) Hewdral D) gl ErE el
(C) T (IID) ST gl awq sl =1 we 8
(D) gresfi (IV) He1 Hed FieH Tl
1 fou 7o fasred 1 | & & I 1 =19 i -

(1) (A)-II). B)-IV). (O)-@). (D)-(II)
(2) (A)-D). B)-II). (O)-(IV). (D)-(1D
(3) (A)-ID). (B)-(D). (C)-II). (D)-(IV)
(4) (A)-IV). (B)-ID). (C)-(I), (D)-(III)

1[Option ID=1609]
2[Option ID=1610]
3[Option ID=1611]
4[Option ID=1612]




Sl. No.4
QBID:1007029

Identify the correct form of noun of the word given below.
Abject
(1) abjectly
(2) abjection
(3) ahjectively

(4) abjects

= g1 e feu e 2 : vk srfashen (Assertion (A)) % ®9 ¥ fotfigd 2 o1 590 359 #1001 (Reasons (R)) %
®UH :

AfEREA (A) : rert Feared o gy o v o1 qof syaeRTferes fhan 2

F (R) : ol TS 8 T B © o T 1 O g0 gd |ed Wi 996 2
ITEIH YA o AT 4, 9= feu e faswea § 3 5= Iugw I =291 Fife
(1) (A) 3 (R) SHIH 2 3 (R), (A) Fil Hel A= ¢

(2) (A) N (R) T T B, AR (R), (A) = we sare 78 2

(3) (A)udi 2, dfe (R) 9l 7 @

(4) (A) 9= 2, df (R) @i 2

1[Option ID=1613]
2[Option ID=1614]
3[Option ID=1615]
4[Option ID=1616]

Sl. No.5
QBID:1007030

Identify antonym for the underlined word 1n the sentence.

The NGO focused on those women who had succumbed to his sweet lies and personality.
(1) 1identified
(2) oOvercome
(3) given up

(4) surrendered




1 71 oA feu e ¥ - v AfaEeR (Assertion (A)) % ¥4 H fifigd 2 91 90 39 F0 (Reasons (R) &
w0 .

g (A) 0] R I AT F0F 21 1 A Taafa s vam fan s 20

FI (R) e 21w | e faafa srer-srem &9 8 wga 2 21 0 FnE § 9 3 fEn F
Hal o a1 BT 2, Selfeh STUIEH FReh H A H Forefl 7 % ot 21 &1 9ra e 2 2

I FeF & AT 1, A 5o e fEewedl U 9 ud 3o o =99 fifse

(1) (A) 31 (R) 591 Hed € 3 (R), (A) =il W&l =9me 2

(2) (A) 3 (R) 241 ¥4 &, Al (R), (A) #1 w81 =91 981 2
(3) (A)He 2, difed (R) 315 &

(4) (A) FEA &, oifF (R) Ted 2

1[Option ID=1617]
2[Option ID=1618]
3[Option ID=1619]
4[Option ID=1620]

Sl. No.6
QBID:1007031

Find correctly spelt word from the options given below.
(ONLY one word 1s spelt correctly)
(1) Harassment
(2) Embarassment
(3) Agrement

(4) Alotment




Frerferfisa T wd g & -

A tEam

(B)  FEIFE

(C) Ol 9l

(D)  94: 34

(BE)  fit-+m

F13 faw e vl 6 2wl e ot wrer fre
(1) (A). (B) FR(C)

(2) (A), (B) 3 (D)

(3) (B). (C) % (E)

(4)

(C). (D) 3 (E)

1[Option ID=1621]
2[Option ID=1622]
3[Option ID=1623]
4[Option ID=1624]

Sl. No.7
QBID:1007032

Identify the correct passive voice for the sentence given below :

People consider that Sajesh 1s honest and trust worthy

(1)

(2)

(3)

(4)

It was considered that Sajesh was honest and trust worthy.
We were considered that Sajesh was honest and trust worthy.

It 1s considered that Sajesh 1s honest and trust worthy.

It will be considered that Sajesh 1s honest and trust worthy.




A= 2l FeE fu e §

Foal: e 40 v sh o I=m a4 fim dae

FUAIl:  dedw visgl 0 W1 U S 3 &1 S=0 T | i g 2

IR FYH % HATeAT °, = e e faeredi 0 8 ud 3o = 999 fifsu

(1) =e[ I 3 1124 91 &
(2) =y I 30 IS Terd &
(3) e[ W 2, wifeha Fud I1 7Terd 2

(4) T 1A &, A Fa [ HE 8

1[Option ID=1625]
2[Option ID=1626]
3[Option ID=1627]
4[Option ID=1628]

Sl. No.8
QBID:1007033

Identify the correct indirect speech for the sentence given below.
Manju said, T printed the invitations and he faxed 1t™.
(1) Manju told that she printed the invitations and him faxed it.

(2) Manju suggested that she printed the invitations he faxed 1t.

(3) Manju asked that she printed the invitations they faxed 1it.

(4) Manju said that she printed the invitations and he faxed it.

1 g1 e fqu e £ : vk srfased (Assertion (A)) % ¥4 4 fAfigd 2 &1 g6 39% #1001 (Reasons (R)) &
®0H .

ATUFIT (A) forel ol g8 o a0 = % fore fo geat & wam o 9 2, 97 R - e die
RERIL

F1 (R) : AW | 379 oF T 39 YT 1S deh a3 e e |
I FeH & AT 1, = 30 e fEemed) U O ud 3 =99 fifsu
) (a) 3k (R) T T E 3 (R), (A) F T TR 2




(2) (A) 3 (R) 341 ged 2, Sfa (R), (A) i 92 a1 981 2
(3) (A)HAE &, oIfed (R) FTF &
(4) (A) 55 2, dfFA (R) 9ea 2

1[Option ID=1629]
2[Option ID=1630]
3[Option ID=1631]
4[Option ID=1632]

SI. No.9
QBID:1007034

Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) We ascribe to them supernatural powers.
(B) But let’s not be naive - cats do what they want.
(C) We even make them embody our deepest wish. immortality.

(D) We poor humans make cats depositories of our desires : we find them mysterious. we

make them gods.

Choose the correct answer from the options given below :

(1) (D). (A). (C). (B)
(2) (D). (C). (B). (A)
(3) (B). (D). (C). (A)

(4) (A). (C), (B). (D)




F=ferfiaa o =17 weg %t & wurneff 27

(A)
(B)
(C)

(D)

4 449 3 4

(E)

ra feu o fasreai | @ ot 39 1 =99 fifsu

(1) FHad (A). (B) 31 (C)
(2) Fad (A). (C) 1 (E)

(3) a4 (B). (C) 3 (D)

(4) had (C). (D) 31 (E)

1[Option ID=1633]
2[Option ID=1634]
3[Option ID=1635]
4[Option ID=1636]

Sl. No.10
QBID:1007035

From among the four options given. choose the grammatically correct sentence.

(1) Millions of us take a multivitamin every day and we feel confident that we are getting
results.

, Millions of us taking a multivitamin every day and feeling confident that we are
2) getting results.

3) Millions of us take a multivitamin every days and we felt confident that we 1s getting
results.

Milhons of you take a multivitamin every day and we feel confidence that we are get

4 result.




(A) FTmEwde
(B) IS 918
() fomadw=

(D) 22 e 3

(E)  dfFd % 0T sigar arfu gy

= few o faeredi | & | 3T w1 =21 e
(1) (A). (B). (C). (D). (E)
(2) (B). (C). D). (E). (&)
(3) (C). (B). (D). (E). (A)
(4) (D). (E). (A). (B). (C)

1[Option ID=1637]
2[Option ID=1638]
3[Option ID=1639]
4[Option ID=1640]

Sl. No.11
QBID:1007036

Consider the following pairs :

(A) Chapchar Kut — Mizoram
(B) Khongjom Parba ballad — Manipur

(C) Thang-Ta dance — Sikkim

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (C) only

(4) (A), (B) and (C) only




faferfiaa gl w faem Fifsm -

(A)  =ETE - s
B) @i e seetre ~ Hforg

(C)  9m-21 9& - fafarm
1= g o fosreai | | | 3 1 =A Fifa

(1) Fde (A) 31 (B)
(2) Fad (A) 3HH (C)

(3)  Had (B) #M (C)

(a) F9 (A), (B) 3 (C)

1[Option ID=1641]
2[Option ID=1642]
3[Option ID=1643]
4[Option ID=1644]

Sl. No.12
QBID:1007037

Match List T with List IT

Tast T Last 1T

(A) Fourth Schedule (I)  Administration of Tribal
Areas of Assam. Meghalaya.,
Tripura and Mizoram

(B) Sixth Schedule (I) Anti-Defection Laws

(C) Eighth Schedule (ITIT) Allocation of Seats for State
and UT's in Rajya Sabha

(D) Tenth Schedule (IV) Official Languages

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-ID. (C)-(III). (D)-(IV)
(2) (A)-1). (B)-(IID). (C)-(IV). (D)-(II)
(3) (A)-(IV). (B)-(III). (C)-(ID). (D)-(I)
(4) (A)-IID. B)-D). (C)-IV), M)-(ID




|1 T o =1 g=h 11 =1 feerm Fifso

g1 gHI-11
(A)  =efl ST (@  sEm, qurerd, Bon s s e
SISITA T &1 1 WA
B) i wggH () @ st -faiE FrE
(C) sl sg=h (IID) Tr=aad] § 791 30 J99nfad &=
a4 Hral =1 fafqer
(D) &5l S (IV) sfeeRTies

41 feu o fasredi d @ |8 39 =1 =34 Fifeo

(1) (A)-(D). (B)-(ID. (C)-(IID). (D)-(IV)
(2) (A)-(D). (B)-(ID). (C)-(IV). (D)-(ID)
(3) (A)-(IV). (B)-(III). (C)-(ID). (D)-(I)
(4) (A)-(III). (B)-(I). (C)-(IV). (D)-(IL)

1[Option ID=1645]
2[Option ID=1646]
3[Option ID=1647]
4[Option ID=1648]

Sl. No.13
QBID:1007038

Arrange the following in chronological order :

(A) Tughlags

(B) Lodhis

(C) Sayvids

(D) Nbari Turks
(E) Khaljs

Choose the correct answer from the options given below :
(1) (B). (A). (C). D). (E)
(2) (E). (A). D). (C). (B)
(3) (D). (E). (A). (O). (B)

(4) (D). (C). (B). (A). (E)




Ffeafiaa =i #rergzn 4 sgafea $ifau -

A) g
(B) @l

(C) #=me

(D)  zeurd g
(E) figers

T4 fou o fasredi O 9 w81 39 &1 =94 fife
(1) (B). (A). (O), D). (E)
(2) (E). (A). D). (C). (B)
3) (D). (E), (A). (C). (B)
(4) (D). (C). (B). (A). (E)

1[Option ID=1649]
2[Option ID=1650]
3[Option ID=1651]
4[Option ID=1652]

Sl. No.14
QBID:1007039

Who 1s won the Nobel Prize in Literature 20217
(1) Haruki Murakami
(2) Abdulrazak Gurnah

(3) Paul Kegnor

(4) dJoseph Stuart

ag 2021 % AifEed & Frae g s b 27

(1) Bl g
(2) HegeHH H2
(3)  Oie H

(4) STHE w23

1[Option ID=1653]




2[Option ID=1654]
3[Option ID=1655]
4[Option ID=1656]

Sl. No.15
QBID:1007040

Who has been appointed as the new vice-president of NITI Aayog?

(1) Suman Berry
(2) Rajv Kumar

(3) Surjt Bhalla

(4) Jay Bhattacharya

Aifer s o 73 3mee w0 4 TR e fea e
(1) HE o
(2) T FHE
(3) TSI Hoe
(4) 9 wEET

1[Option ID=1657]
2[Option ID=1658]
3[Option ID=1659]
4[Option ID=1660]

Sl. No.16
QBID:1007041

If IMAGE is written as 0913010705, then how will BOUGHT be written as

(1) 215021708112
(2) 021521070820
(3) 040605122612

(4) 025121702180
Ifz IMAGE %1 0913010705 it a%2 ferwan st 2 91 BOUGHT &1 4 et strom 7
(1) 215021708112

(2) 021521070820

(3) 040603122612

(a) 025121702180




1[Option ID=1661]
2[Option ID=1662]
3[Option ID=1663]
4[Option ID=1664]

Sl. No.17
QBID:1007042

In a famuly, there 1s a man, his wife, his father-in-law, two sons, their wives and two
daughters. One son has two daughters and the other son has three sons. How many total

members are in the family?

1) 12
(2) 14
3) 15
(4) 13

ush a1 usk ey, 3uh uefl, 3us o, 182, 3 of e sie i At #) vs 92 o At # i g
a2 % of [ 92 2| uitam § &e fora mae 27

(1) 12
(2) 14
(3) 15
(4) 13

1[Option ID=1665]
2[Option ID=1666]
3[Option ID=1667]
4[Option ID=1668]

Sl. No.18
QBID:1007043

Six friends Geeta, Suresh, Mani. Pradeep. Deepti and Rekha are sitting in a circle facing the
centre. Deeptl 15 to the left of Pradeep. Mani 1= between Geeta and Suresh. Rekha 1s between
Deepti and Geeta. Who 1s sitting immediate left of Suresh?

(1) Deepti

(2) Pradeep

(3) Geeta

(4) Rekha

e, gy, wftn, v, i SivcwE 2: fim € S vk 99 O 99 % e ) S e 0 48 E) 9wl g s
21 wafor affen ST e 3 = d ) v i i 3 e o 2 g ard sin we e Fa ae ae

(1)




(2) W&Em
(3) Il
(4) @

1[Option ID=1669]
2[Option ID=1670]
3[Option ID=1671]
4[Option ID=1672]

Sl. No.19
QBID:1007044

ERelationship between two words 1s given 1n a sentence. Use the same relationship to find out
which choices complete the relationship with the third word?

Oar 1s to Rowboat as foot 1s to
(1) Running shoes
(2) Excercizsing
(3) Skateboard

(4) Leg

A1l wek e 4 51 wrsdl o sitel 1w fe e 2 | 3 wesea o e w6 fae e faered § 3 9e v g
Sl et Te2 % e WA I T | SO ] S Ha 19 T d 2 9 gia H42

(1)  @red el §d

(2) “HTIH
(3) Thadle
(4) =i

1[Option ID=1673]
2[Option ID=1674]
3[Option ID=1675]
4[Option ID=1676]

Sl. No.20
QBID:1007045

Find the wrong number on the given sequence of numbers —

816, 844, 821, 849, 823, 854, 831

(1) 854




(2) g91
(3) 549
(4) 823

HEHA o == 40 0 SgFE ° Teld TEd Fil 9g=aH i -
816, 844, 821, 849, 823, 854, 831

(1) &34
(2) =&B21
(3) 849
(4) R23

1[Option ID=1677]
2[Option ID=1678]
3[Option ID=1679]
4[Option ID=1680]

Sl. No.21
QBID:1007046

Arrange the following fractions (A-D) in their descending order.

(A) 3/5
(B) 417
(C) 8/9
(D) 9/11

Choose the correct answer from the options given below :
(1) (C). (D), (B). (A)

(2) (A). (D). (C). (B)

(3) (D). (C). (B). (A4)

(4) (C). (D), A). (B)




fAeferfiaa firsi =1 e g2d #0 § @)

(A) 3/5
(B) 4/7
(C) 8/9
(D) 9/11

= fau o faredi 1 & B 3 o1 =29 if

(1) (C). D). (B). (&)

(2) (A). (D), (C). (B)

(3) (D). (C)., (B). (A)

(4) (C). (D). (A (B)

1[Option ID=1681]
2[Option ID=1682]
3[Option ID=1683]
4[Option ID=1684]

Sl. No.22
QBID:1007047

If1° +2° + 3% + .+ 9% = 2095 . then the value of

(0.11F +(0.22F +.....+(0.99F is close to :

(1) 0.2695

(2) 0.3695
(3) 2.695

(4) 5.695

afs 12 +2%+3% + . +9% =2025 24 (0.11) +(0.22f +

(1) 0.2695

(2) 0.3695
(3) 2.695
(4) 3.695

1[Option ID=1685]
2[Option ID=1686]
3[Option ID=1687]
4[Option ID=1688]

+(0.99) =19 fae3 % fahe 2nm -

Sl. No.23




QBID:1007048

The simplified value of

1/1 —1]+(1 —E.]+(1 _E]___ ..... upto n terms 1s :
\ n) \

n./ n./
1) n/2
(2) (n-1)/2
(3) nln—-1)/2
(4) 1/n

(1—3}.—(1—3}+(1—E]+ ..... n WEI 9 %1 Tl H51F = 2 -
\ ., : n. n.

(1) n/2

(2) (n-1)/2
3) nin-1)/2
4) 1/n

1[Option ID=1689]
2[Option ID=1690]
3[Option ID=1691]
4[Option ID=1692]

Sl. No.24
QBID:1007049

A.B.Cand D share a property worth T 77,500.If A:B=3:2; B:C=5:4 and C:D=3:7,
then what 1s the share of B ?

(1) *20.000
(2) ¥ 15.000
(3) ¥25.000
(4) ¥ 14,000
A.B.C3R D ¥77,500 i v goafy | feien d13fs A: B=3:2, B:C=5:4 3 C:D=3:7, 4l

B 1 T fohamn 27

(1)  Z20.000

(2) ¥ 15.000




(3) ¥ 25.000

(4) ¥ 14,000

1[Option ID=1693]
2[Option ID=1694]
3[Option ID=1695]
4[Option ID=1696]

Sl. No.25
QBID:1007050

In a mixture, the ratio of the alcohol and water 1s 6 : 5. When 22 litre mixture 1s replaced by
water, the ratio becomes 9 : 13. What 1s the quantity of water after replacement?

(1) 62 litres
(2) 50 litres
(3) 40 litres
(4) 52 litres

v fagor 1 veshiree S Ol 1 S 6:5 81 59 2.2 offer g o6 ol § wfdentud s 2 9 9w 399 9013
21 Sfran 21 i & avg ol = o fRai 27

(1) 62l
(2) 50l
(3) 40l
(4) 52l

1[Option ID=1697]
2[Option ID=1698]
3[Option ID=1699]
4[Option ID=1700]

Sl. No.26
QBID:1032001

12 1 1
Let the eigenvectors of the matrix I:'D 2} be written 1n the form |: :| and [ b }
a

What 1s the value of (a +b) ?

(1) 0

(2) 1

(3) 1

2

(4) 2

(1) 1

(2) 2




(3) 3
(4) 4
mmmaqg[gz}*mﬂﬁ?ﬁﬁ{;]ﬁm[;]ﬁwﬁﬁmw
& 1 (a+b)T AT FT E 2

(1 0
(2) 1
(3) 1

2
4 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=2901]
2[Option ID=2902]

3[Option ID=2903]
4[Option ID=2904]

SIl. No.27
QBID:1032002
100
Let A=|0 2 G]. Then the determinant of A° + A is
003

(1 196
(2) 0
(3) 144
) 100

(1) 1

(2) 2

(3) 3

(4) 4

100
AT A=|02 UI.HE'AI+A$FFRE‘7$% |
003

) 196
(2) 0
3) 144
(4) 100

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=2905]
2[Option ID=2906]




3[Option ID=2907]
4[Option ID=2908]

Sl. No.28
QBID:1032003

Which one of the following 1s correct ?

(1) Any abelian group of order 21 1s cyclic
(2) Any abelian group of order 27 1s cychic
(3) Any abelian group of order 8 1s cyclic
(4) Any abelian group of order 9 1s cyclic

(1) 1

(2) 2

(3) 3

(4) 4

T dasawmad g

(0 21 FfE &1 #15 3 ae THE TR
) 27 % 1 FIS of I T T ©
(3) BHIE &1 IS 8 el FH7g THT §
@) 9B @ A N I W TR ¥

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=2909]
2[Option ID=2910]

3[Option ID=2911]
4[Option ID=2912]

Sl. No.29
QBID:1032004

Let (Z, +, *) be the ring of integers. Let <m > form & Z be the ideal generated by

m. Then which one 15 a field ?

(1) Z
<3>
(2) Z
<4>
(3) 4
<8>
(4) Z
<b>
(1) 1
(2) 2
(3) 3

(4) 4




AT (Z,+,+) JONehl &1 G § | AA<m>m € 7 & AT m ¥ FfAd

oTSTael ¢ | a9 e A wla-ar s g 2
(1) Y4
=3>
(2) Z
<4>
(3) Z
<8>
(4) yd
<b>
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=2913]
2[Option ID=2914]
3[Option ID=2915]
4[Option ID=2916]

Sl. No.30
QBID:1032005

Let <X> be the ideal generated by the polynomial p(x) = x in the ring Z[x].

Zx]
Then <x> B
(0 A field
(2) Not a field but ring with zero divisor
(3) Not an integral domain
(4) An integral domain
(1) 1
(2) 2
(3) 3
(4) 4
<X> T Z [x] & FgU& p(x) = x ¥ SAlAd Joreiaeh H FERT Fm ¥ |
Zx ,
<X=>
(1) TH &
2 BT 81 fhed Y oIS & WY Tod
3) T Uit WieT A€ &
4 T quitdhT Wid §
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=2917]
2[Option ID=2918]
3[Option ID=2919]
4[Option ID=2920]

Sl. No.31
QBID:1032006

The groups Zg and 23 X 23 are

(1) Isomorphic
(2) Both abelian
(3) Both non-abelian
(4) Both cyclic
(1) 1
(2) 2
(3) 3
(4) 4

H’ﬁ}'zgﬂ?ﬂza x Lat

(1) HAEGT

(2) CCIREICE]
(3) CEINCCICE)
4) gt TR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=2921]
2[Option ID=2922]

3[Option ID=2923]
4[Option ID=2924]

Sl. No.32
QBID:1032007

Let (I, +, *) be a finmite field, then order of Fcan not be

(1) 6
(2) 4
3) 9
(4) 8
(1) 1
(2) 2
(3) 3

(4) 4




AT (F, +, ) T oRfAT &7 §. a9 Fé&r Fife 781 & g&ar

(1)
(2)
(3)
4

e = R A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=2925]
2[Option ID=2926]

3[Option ID=2927]
4[Option ID=2928]

Sl. No.33
QBID:1032008

Given below are two statements :

Statement 1 :

There exists no integral domain of order 6.

Statement IT :

The total number of distinct permutations on the set 5= {1, 2, 3} 1s 6.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both statement | and statement 11 are true
(2) Both statement [ and statement 11 are false
(3) Statement 1 1s true but statement [1 1s false
(4) Statement I 1s false but statement 11 1s true

(1) 1

(2) 2

3) 3

(4) 4




A & sy few v §

FYA I :

Hifc 6 aTem IS oI Fid FaT gl ¢ |

FYA 11 :

Hedd S={1,2,3) # e wawal # w@Eww 61 |

IRIEd FUA F el H, A U 717 [t & & ¥ 39T &1 9394

(1) FUT 13T FU7 1A 77 &

(2) FU 13X F9 11 ST 30T £

(3) FYT [ 6T &, ofhd FU7 13757 &
(4) FYT [ T g, olfehed HUT [ HT &
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=2929]
2[Option ID=2930]
3[Option ID=2931]
4[Option ID=2932]

Sl. No.34
QBID:1032009

Given below are two statements :
Statement I :

For each positive mteger n, the set nZ = {0, £n, £2n, 43n, ...} i1s a subring of the rng
of integers.

Statement 11 :

(Zg, +4 X g) is an integral domain.

In the hight of the above statements, choose the correct answer from the options given
below :

(1) Both statement [ and statement 11 are correct
(2) Both statement | and statement II are incorrect
(3) Statement I 1s correct but statement I 1s incorrect
(4) Statement I 15 incorrect but statement 1 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




A & Fua few v §

FYA 1

Jede UeAlcH® qolieh neh fIT HHTIT nZ = {0, +n, +2n, +3n, ...} JOHT &
doT F U 399004 & |

Fe 11 :

(Zg, +5 X g) Tk UIHT Uict § |

IRFd FUF & el A, T QU a0 [Fedt 7 & ¥ 30 &1 994

(1) FU 131 Fu=7 1A w9 &

(2) FU7 13K FU=7 1A g &

(3) FUT 1 6T ¢, ofhed FU 113067 &
(4) FUT | 30T &, oifthed U7 18T &
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=2933]
2[Option ID=2934]
3[Option ID=2935]
4[Option ID=2936]

Sl. No.35
QBID:1032010
A For a matrix A, A'A is always symmetric
B. A+A'isa symmetric matrix.
C. In a group G, if a, b, ¢ € G, are such that ab = ac, thenb =c.
D. Inthering R, fora,b € R, (a+ b)* =a" + b +ab +ba.
E: Every integral domain 1s a field.
Choose the correct answer from the options given below :
(1) A, B, C,D only
(2) A,B,C,D,Eonly
(3) A, B only
(4) B, C only
(1) 1
(2) 2
(3) 3

(4) 4




Mmoo w p

UF I A, F T, ATA wédg wafAa @
A+A'Uh FATAT 3TTE B

UF g GH,a,b,c €GF T afg ab=ac. g aF b=cl
TH do/d RA,a.b cR&F T, (a+b) =a +b +ab+bal
Yedeh qUilchl Ui, Teh &7 grem €l

ﬁﬁﬁamﬁm‘rﬁﬁaﬁmﬂwﬂﬁw

(1) Fad A.B.C.D
(2) Fad A.B,C.D.E
(3) hdol A.B
(4) &del B.C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=2937]

2[Option ID=2938]

3[Option ID=2939]

4[Option ID=2940]

Sl. No.36

QBID:1032011

Given below are two statements : one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A ;

Let W, and W1 be any two subspaces of a vector space V, then W,n Ws s also a

subspace.

Reason R -

Intersection of a subspace W of V with any other subset U of V that contains 0 is
again a subspace of V.
In the light of the above statements, choose the correct answer from the options given

below.

(1)
(2)
(3)
(4)

1) 1
(2) 2
(3) 3
(4) 4

Both A and R are true and R 1s the correct explanation of A
Both A and R are true but R is not the correct explanation of A
A 1s true but R 15 false

A 1s false but R 1s true




e o FYa Rr av § @ v ey A% w7 A *fga & o qguw swF
FHOT RE & H

HIBFIT A -

AT W, TaT W, TF afer @afte v& 1S g 3uuafe § | a9

W, n W, #t o 3gEAfee § |

ST R

VEH e suwaAfte wa Rl 3w suweas U ary uiasoe, e

0 € UR VH vs 3uanfee gar & |

IWIFd FUA & Halsdh A, A 6T 0 Aehedt H & T 3o H a9
HIST |

(1 AT REET g & IR R AS wf =T &
(2) A 3T REAT Geg &, o R, A &1 FEY carear ag7 &
(3) ATT &, afT R3ET &

(4) AT BT RET ®
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=2941]
2[Option ID=2942]

3[Option ID=2943]
4[Option ID=2944]

Sl. No.37
QBID:1032012

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion 4 :

If a real matrix has one eigenvector, then 1t has an infinite number of eigenvectors.
Reason R :

Scalar multiple of an eigenvalue of a matrix is also an eigenvalue of the matrix.

In the light of the above statements, choose the correct answer from the options given
below.

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 15 correct but R 1s not correct
(4) A 15 not correct but R 1s correct

(1) 1

(2) 2

3) 3

(4) 4




A ot Y U 1w § : U ey A w0 A f@a § o qur 3@F
FNOT R$ &7 H

IHIHFYT A -

afe vk afas g 1 Uh AAETF Al . a9 sHS ed
sffrorerfors afeer g |

FROT R :
ww%wmmwaﬁwaﬁmmwﬂ
JfFrererfors A= gar & |

IRIFT FUA & el &, A BT 710 [Fpedt F F @gr 390 F1 939
AT |

(0 AR R wér € 3R R, A ST T e §
2) A AR R AT WEY &, dfdheT R, A &7 W8 caredr 76 8
3) AW § offheT REE 6T ¢
(4) A TEr ¢ & Akt REET &
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=2945]
2[Option ID=2946]
3[Option ID=2947]
4[Option ID=2948]

Sl. No.38
QBID:1032013

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A :

Let G be an abelian group of order 15. Then G will have an element of order 3.
Reason R -

If a number n divides order of G, then G has an element of order n.

In the light of the above statements, choose the correct answer from the options given
below.

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A
(3) A 1s true but R 1s false
(4) A 1s false but R 1s true

(1) 1

(2) 2

(3) 3

(4) 4




A A Fua Rw aw § @ v 3Py A w0 A @ ¢ O g 3@
FRUT R &9 H

HIFHFYT A -

AT G, HIfE 153 U ol TAE & | 99 GH FIE 3H U 3a9q gl |
FUT R :

afy P FEI nTHE GH Ffe A Ranfod War &N GH AR n#H v
Haaq grem |

IRFT FUT F HelF A, A B a0 Beedt 7 & 78 38 &1 994
ffFT |

(1) AR R wcg & R R A Fr Y e #

2 A 3R REET W €, dfa R, A T Wer sarear 76 ¢
(3) A HcT g, oifehel R 3IAT &

(4) AT g T RET |

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=2949]
2[Option ID=2950]

3[Option ID=2951]
4[Option ID=2952]

Sl. No.39
QBID:1032014

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R
Assertion A

100 123
Thematrices A=| 020 {and B =0 2 0 | pve same eigenvalues.
003 003

Reason R -
The above matrices A and B are similar matnces.

In the light of the above statements, choose the correct answer from the options given
below.

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 15 correct but R 1s not correct
(4) A 15 not correct but R 1s correct

(1) 1

(2) 2

3) 3

(4) 4




A & Hua Qe a7 § : v HPEUST AF w7 A f@a § @ g 36
FHOT R&F ¥ H
HIAFYT A -
100 123
m@§A=FEﬂlmnB={U2D]$Hmﬂamﬂﬁﬁmﬂm§r
003 003
FROT R :
STIF HETE A TUT B {AET 3T ¢ |
IWFT FYUA & Hdld A, A0 U 70 TFeal # & A8 31 &1 a9
T |

() AT RO @Y & 3 R A of carEar #
(2) A 3R R TEY €, oifehed R, A T T sTrEar 76T ¢
(3) AT E o RES A& &
4) AT TS E ofvT RED &
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=2953]
2[Option ID=2954]

3[Option ID=2955]
4[Option ID=2956]

Sl. No.40
QBID:1032015

Match List I with List 1L

ListI List I
Vector Spaces Dimensions
A R over K L 4
B. Cover B IL 3
C. RloverR m. 2
D. C’overR W
Choose the correct answer from the options given below :
(1) A-IV, B-I1, C-I1, D-1
(2) A-1 B-IV, C-I1, D111
(3) A-IL, B-1, C-III, D-1IV
(4) A-1, B-II, C-III, D-1IV
(1) 1
(2) 2
(3) 3

(4) 4




T 1 g 1S ary gAfaa fiEe |

1

gfesr gafee
A 8T R & FUR I3
B. BT & I C 1L
2 87 R & FOCR’ 11
D. g R & IWC Iv.

a;i’ru
G

[ N

1

e e a7 Jweat # @ @ 39¢ F1 93 fifFv

(1) A-1V, B-IIL, C-II, D-1
(2) A1, B-IV, C_II, D-III
(3) A-IL, B-1, C_III, D-IV
(4) AL, B-IL, C-III, D-IV

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=2957]
2[Option ID=2958]
3[Option ID=2959]
4[Option ID=2960]

Sl. No.41
QBID:1032016

lim
n
The value of = = v/ N ig

(1)
(2)
(3)
(4)
1) 1
(2) 2
(3) 3
(4) 4

lim

0
1
2

n— o VN @ ame @

(1)
(2)
(3)
(4)
1) 1
(2) 2
3) 3
(4) 4

0
o0

1
2




1[Option ID=2961]
2[Option ID=2962]
3[Option ID=2963]
4[Option ID=2964]

Sl. No.42
QBID:1032017

= 1
Z E converges 1f p 1s

=1

b= = =M

(3)

(4)

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=2965]
2[Option ID=2966]

3[Option ID=2967]
4[Option ID=2968]

Sl. No.43
QBID:1032018

Let a<bin E. Suppose f: [a, b] — (a. b) is continuous.

(1) f may be onto

(2) f may be one-one

(3) f may be one-one and onto

(4) f([a. b])= {c,d} forsomec,dE(a,b),c#d




(1) 1
(2) 2
(3) 3
(4) 4

AGTREH a<bf AMAT f:[a.b]l—(a.b)Taa & | T

(1) f HTTBIEH &l Hhal &
(2) fTHT &7 Tl &
(3) f U T OIS & TFdT &
(4) fi[a, b]) = {c, d}, el c,d€(a.b)& AT, c2d
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=2969]
2[Option ID=2970]
3[Option ID=2971]
4[Option ID=2972]

Sl. No.44
QBID:1032019

Rolle's theorem is applicable for

(1) fix)=x"in[- 1, 0].

(2) fix) =x(x+3)e ™ in[-3,0].

(3) 1 : :
o xsinxifxtﬂ _ ._1 1
fix) = | ,|n| ‘T1'I:|

0 fx=20 .ol

@ fix) = |x|in [ 1, 1].

(1) 1
(2) 2
(3) 3
(4) 4

Ued 9HT =T 9 o] g &

(1) fix)=x% [ 1,01 H

(2) fix)=x(x+3)e™, [-3,0]H

(3)

f(x) =

K!‘.II‘I} gfax =0 _1 11 ...
R | 4

0 afRx=0 '
(4) fixy=pi,[-1,1]H

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=2973]
2[Option ID=2974]
3[Option ID=2975]
4[Option ID=2976]

Sl. No.45
QBID:1032020

Let A and B be two non-empty subsets of R. If A, A®, and A" denote closure, interior
and set of limit points of A respectively, then

M AN éis open.
(2) A®°U B’ 1s open.
(3) A U B’ is closed.
(4) A N Bisclosed.

(1) 1

(2) 2

(3) 3

(4) 4

HIAT ATYT B, R & & 3R 3uedead § | e A, Ao, 7T A' & Hawh,
IR aur AT gt 1 vy & a9

(1) -
A°N BfEEa &
@ A°U B Rga &
3) AUBYITE
(4) ANBHIT®
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=2977]
2[Option ID=2978]
3[Option ID=2979]
4[Option ID=2980]

Sl. No.46
QBID:1032021




Xty
If u(x, y) = cos™ [ﬁ & ﬁ],{]{x{}e{].

au du
Thenx — +

ax 7 ay

(1) 1 tanu
2

“} — l tan u
2

(“} — l cot u

(3) sin u
(4) cos U
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=2981]
2[Option ID=2982]

3[Option ID=2983]
4[Option ID=2984]

Sl. No.47
QBID:1032022

Let f: R* — R be defined by f{x, y) =V Ix‘."'l, then

(1) f.. f, do not exist at (0, 0)
(2) directional derivTutive of f exasts at (0, 0) in every non-zero direction
u=(up, us)in B°
(3) fis differentiable
(4) f 1s not differentiable
(1) 1

(2) 2




(3) 3
(4) 4

AT f:IF_JﬁE.,E{x,y]*\/wa?ﬂTqﬁ'ﬂTﬁﬁ'?l g

(1 £, £, (0, 0) R Tezam =gt §

(2) g% T & u=(u, w) EXH 197 (0. 0) R & awersr
e

(3) f ahel=d ¢

(4) f 3ahelg 8T &

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=2985]
2[Option ID=2986]

3[Option ID=2987]
4[Option ID=2988]

Sl. No.48
QBID:1032023

Let f: . — [ be defined by

2 2

.
fix,y)=1 X +¥
0 fx=0=y

X

if x> + y* »= 0

lim lim lim lim
Letx»0y—0f(x,y)=aandy+0x+0f(x,y)=b.
Then
(1) a=b=1
(2) a=b=-1
(3) a=landb=-1
(4) a=—landb=1
(1) 1
(2) 2
3) 3

(4) 4




AT £: R — & @5 garr aRenf¥a &,

2
s ) SCSNE
fx,y)=1 X +7
0 IMx=0=y
lim lim lim lim
Hmrg—.ﬂ}r—nﬂf(x1 Y}=ﬂaﬂr}r—lﬂx—lﬂ f'(?"-a}":'=b

o
(1) a=b=1

) a=b=—1

(3) a=1dd b=-1
14 a=—1 b=1
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=2989]

2[Option ID=2990]

3[Option ID=2991]
4[Option ID=2992]

Sl. No.49
QBID:1032024

Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

Assertion A :

n+1
n

The sequence {( - 4 } is not convergent

Reason R :
Every monotonic sequence 1s convergent

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A 15 not correct but R 1s correct

(1) 1

(2) 2

3) 3

(4) 4




A ¢ Fu= fGr 10 § o AFEUT AF w9 A AT ¢ & g ses
FROT RS &9 H

HBFYT A -

a@w{(—ﬂ"."H]aﬁmﬁaﬁ%

n
FROT R :
TAF THiese A AfFad §

Ww%%ﬁ.ﬁﬁmﬁaﬁﬁﬁmsﬂwmﬂ
T3 Sifsw

(D AR R @@ € 3R R A H 7 e §

2 AR R @ € A R A $T @ carear A8 §
(3) ATt o RES At &

() ATE AL & ofT RES ©

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=2993]
2[Option ID=2994]

3[Option ID=2995]
4[Option ID=2996]

Sl. No.50
QBID:1032025

Given below are two statemetns : one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Let @) be the set of rational numbers

Assertion A :

@] is not complete.

Reason R :

The set {x € () : x* < 2} has no supremum in Q.

In the light of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of’ A
(3) A is true but R 1s false
(4) A 1s false but R is true

(1) 1

(2) 2




(3) 3
(4) 4

A 2 U foT AT § ¢ U HHFYT AF &7 A @ § O qEw 3@F

FROT RF &7 H

T () IRAT FEH F GHeIT ¢ |
FHIBHFYT A -

Q oot =& & |

FROT R :

Hﬂm:xeﬂ:xzizjﬂ@ﬁﬂﬂémﬂﬁﬁ'l
IEd FYA F el A, A9 BU av Bwedt 7 F ¥ 39 #7994

(1)

(4)

(1)1
(2) 2
(3) 3
(4) 4

AR REET TcT § 3N R ASH af s §

A 3R REET W €, dfFa R, A T T surear 76 ¢
AT & R R3ET &

AT g o RacT &

1[Option ID=2997]
2[Option ID=2998]
3[Option ID=2999]
4[Option ID=3000]

Sl. No.51

QBID:1032026




Match List T with List 11

List I List IT
f(x) in the interval 't in Rolle's Theorem, {'(c) =0
A E2DE-DE—Nin[l,3] L ’m — 1
d
2m + n) — 1
B. sin X 1in [0, m] 11. n
a
m+n
C. ™ la=xy"n]0,a) I11. 5 9
J3
D. x™(a—x)™in [0, a] IV. |
2
Choose the correct answer from the options given below :
(1) A-1, B-II, C-IV, D-III
(2) A-IL, B, CI,D-1IV
(3) A-TIL, B-IV, C-1, D-II
(4) AT BV, €11, D-T
(1) 1
(2) 2
(3) 3
(4) 4
o 1F g 0 F arr gafad fife
feaT &3 BT f(x) gUT s
S fx) UcH THT H '¢' FT A, (c)=0
HocdTeT
A x-1)(x-2(x-3),[1,3]F I I a
: X— X — Xx—3)|1, :
2m + n) — 1
n
B. sinx, [0, ©] & IL a
m+ n
a5 0 (a—x)™ [0, a] 7 m. 2 — £
J3
T
D. x* (a —x)*™, [0, a] H V. E
A fer 7 Geedt A # @8 30 FT 994 HIfAU
(N A-1, B-II, C-IV, D-III
(2) A1, B-III, C-1, D-IV
(3) A-1II, B-1V, C-1, D-II
(4) A-TII, B-IV, C-II, D-1
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=3001]
2[Option ID=3002]
3[Option ID=3003]
4[Option ID=3004]

Sl. No.52
QBID:1032027

Given below are two statements :

Statement I :

Consider f: R* — R defined by f{x,y):= x". Then f has a local extremum at (0, 0).
Statement II :

Consider f : R* — R defined by fix, ¥) : = xy. Then f has a saddle point at (0, 0).

In the light of the above statements, choose the correct answer from the options given
below

(1) Both statement | and statement 11 are true
(2) Both statement I and statemnent 11 are false
(3) Statement I is true but statement I1 is false
(4) Statement 1 1s false but Statement II 1s true
(1) 1
(2) 2
(3) 3
(4) 4
A e ®ua fgu 7w §
FEHA [

flx,y) : =x’ Z@RT IR £: 2* > Rf&Im g3T ¥ | A9 £F (0, 0) W AT
IHA & |

A 11 -

flx,y) : =xy G@RT IRAMT £: R~ R &I §3M & | @9 (7 (0, 0) N Azl
g & |

IRFd FUT F IHelld A/, A0 QU av [edt 7 & 78 38 &1 994

(1) FueT 131K Fe 1121 §ca &
2) FU 131 Fu NS 38T &
(3) FUT 1 HcF &, oifshel U 11 36T &
(4) FUA 1 30T &, dfhT FaT nacT §




(2) 2
(3) 3
(4) 4

1[Option ID=3005]
2[Option ID=3006]
3[Option ID=3007]
4[Option ID=3008]

Sl. No.53

1
X+Y

below
(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

QBID:1032028

Given below are two statements :

Statement 1 :

is a homogeneous function of degree — 1.

Statement 11 :

A function fix, y) 1s said to be a homogeneous function of degree n in x and y 1f it

satisfies fix, y) =x"g (1)
X

In the light of the above statements, choose the correct answer from the options given

Both statement [ and statement II are correct
Both statement [ and statement I are incorrect
Statement I 1s correct but statement Il 1s incorrect

Statement 1 is incorrect but statement 11 is correct




A & vy few v § -
HeeT [

.— 1 g1 & HHYES Sl & |

X + Y
HUA 11 :
TS el fix, y), x TUT y &/ n T FT THAUAS Dolel Fgelldl & dfe Ig

flx,y)=x"g (%]ﬂ'ﬁi‘l?f?.'mﬁ[
IWFT HUA & Helld A, A QU a0 fGaedl A 4 €1 3o &1 994
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2[Option ID=3010]
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A. Let T: B* — R’ be a Linear transformation such that T(1,0) = (0,0) = T(0,1).
Then T(1, 2) = (0, 0).

B. The number of group homomorphisms from Z,y to Z; 1s one.
C. The number of one dimensional subspaces of R over R is two.
DL — ' I . ™ . | ‘\ L .
LetD={z € C:|z|<1},f: C — D be analytic,and f |1 + _J =1-1
n

Thenl"(l = ';il-}=]+i.

E. Every closed convex set 1s a feasible region of LPP.
Choose the correct answer from the options given below :

(1) B, D, E only
(2) A, E only
(3) A, B only
(4) A, B, C only

(1) 1

(2) 2

3) 3

(4) 4




E.

AT T: R — B2 ve W §9aRor § & @ v & fear
I & T(1,0)=(0,0)=T(0, 1). g T(l, 2) = (0, 0) &M |
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(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Faa B,D,E
#ad A E
#ad A.B
Fad A B, C

1[Option ID=3013]
2[Option ID=3014]
3[Option ID=3015]
4[Option ID=3016]
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. [ cos(e®) _
The value of f ——— dz. where C:|z|=21s
C z

(1) 0

(2) 2m

(3) mi(e' +e)

(4) mi(e' —e™)
(1) 1
(2) 2
3) 3
(4) 4

f%ﬁdz (SR C: =28, %0 AW &
c

(1)
(2)
(3)
4

0
2m
mi(e' +e7')

mije' —e )




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3017]
2[Option ID=3018]

3[Option ID=3019]
4[Option ID=3020]
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Z—sinz

Complex function fiz) =

, has
ZE

(1) Essential singularity atz =0
(2) Removable smgularity at z= 0
(3) Non-isolated essential singularity at z= 10
(4) Simple pole at z = |
1) 1
(2) 2
3) 3
(4) 4

Z—sinz

AT B f(z) = 2

(1) e ”fEEan z=0w

(2) g fAffEan 2= 0w

(3) mﬁgﬁmﬁaﬁﬁﬁlﬂ.z—nw
(4) UhHld Hadd,z= 1T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3021]
2[Option ID=3022]
3[Option ID=3023]
4[Option ID=3024]
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: g : n ? n-
Radius of convergence of the power series E[ —— ] Z1s
(1) ZeTo
(2) 2
(3) 3
4 I

(1) 1




(2) 2

3) 3
(4) 4
2
ﬂmﬁ'ﬂﬁz[n : 1'] 2" &1 siffreor Bear B
(1) YT
@) 2
(3) 3
(4) 1
1) 1
) 2
3) 3
(4) 4

1[Option ID=3025]
2[Option ID=3026]
3[Option ID=3027]
4[Option ID=3028]
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z+ 4
The value uf’j > dZ, where C isthe circle [z + 2| =1 1s
c2z:+ 4z + 13

(1) 0
(2) 2ni
(3) —2+3i
() gy
(1) 1
(2) 2
(3) 3
(4) 4

zZ+ 4 .
f dz sf caa z+2 =18 @ a7 &
C

22 + 4z + 13
(1) 0
(2) 2ri
(3) 243
(4) g g
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3029]
2[Option ID=3030]
3[Option ID=3031]
4[Option ID=3032]
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QBID:1032034
Match List I with List I1

List1
Integral

along parabolax =t, y= g

D. Ccos 7
§ dz
E-1|=3 £ — 1

Choose the correct answer from the options given below :

(1) A-1 B-1V, CI, D-I1I
(2) A-IL B-1, C-1V, D-III
(3) ATV, B-II, C-1, D111
(4) AL, B-11, C-1V, D1

(1) 1

(2) 2

(3) 3

(4) 4

IL

MI.

IV.

2m

—2m




Hﬁlﬁﬂﬁll*%ﬂ#ﬁﬂﬁﬁvl

1 Tl
HHAERA A
A Z+ 1 I 86
f dz = = Bl
1 3 3
lz|= B e,
4
B.J- dz II. 2mi
p+ij=4 Z— 3
C. p2+4d . =2mi
f z? dz
1+ IREET x=t,y=t,1 St <2
¥ @rY-arYy
D. cos 7 V.0
§ dz
E-1]=3 £ — 1
A fgr 1w fawedt & ¥ @fr 3o & g fifae
(1) A1 B-IV, CI, D-I11
(2) AL B-1, C-IV, D111
(3) A-IV, B-1I, C-1, D11
(4) AL, B-IIL, C-IV, D-1
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3033]
2[Option ID=3034]
3[Option ID=3035]
4[Option ID=3036]
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Match List I with Laist 11

List I
Complex Functions
- sin z
7| =
22-52+ 6
&2
&~ 1
ZE
z-9°
ZE

z-2°

fz) =

fiz) =

fiz) =

IL.

1L

V.

List II
Singular Points
Poleoforder3atz=2

Simple polesatz=2,z=3

Pole of order4 atz = 1

Poleoforder3atz=3

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

T 1 R 6 |y gAfeaT Fw |

A-1, B-1IL, C-IV, D11
A-11, B-IL, C-1V, D-1
A-1L, B-IV, C-IIL, D-1
A-1L, B-1, C-IV, D-1III

T 1
afF Ay G
sin z
flz) = z22-52+6
_¢
o= @ = 1°
ZE
- = 3
ZE
- 2 - 2

IL

HI.

sl
i fag
z=2T9X, 3 °d & Heads (d1e)
z=2,z=39L, UHud 3=ad%

z=197, 4 TTd & HAdH

z2=39L, 3 TTd & dds

A fer v fawedt # @ 98 39 &1 gaa fifFv

(1
(2)
(3)
4

(1) 1
(2) 2

A-1,B-IL,C-IV,D 1II
A-IL, B-II1, C-1IV, D1
A-1IL, B-IV, C-I1L, D1
A-IL B-L, C-IV, D-1II




(3) 3
(4) 4

1[Option ID=3037]
2[Option ID=3038]
3[Option ID=3039]
4[Option ID=3040]

Sl. No.61
QBID:1032036

Given below are two statements :
Statement [ :

ol I ol
z-10(3+23

The singularity of fiz) = 5 atz=o01s a pole of order 3.

Statement I :

22+ 4+ 2
(z-13%3z+ 2

The singularity of f{z) = }2 at z= 1 1s a pole of order 3.

In the hight of the above statements, choose the correct answer from the options given
below

(1) Both statement | and statement Il are true

(2) Both statement [ and statement II are false

(3) Statement I 1s true but statement 11 1s false

(4) Statement I 1s false but statement II 15 true
1) 1
(2) 2
(3) 3
(4) 4

A 1 %y fgu a1v §

FA I :

a8 4
Z°+ 2+ 2 _
flz) = F z=coq ARFaLFE 357 = 35aTF &
z-1°@z+ 22
FEe Il :
8 4
P+ 27+ 2 :
fiz) = #r z= 19X AfTTar :fE 33 & 3[9as § |
z-1°@z+ 22
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3041]
2[Option ID=3042]

3[Option ID=3043]
4[Option ID=3044]
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A fiz) = z is analytic ¥ z € C.
B. f{z) =Z is not analytic ¥ z€ C.
C. f(z) = 2z 1s differentiable at z = 0 but not analytic 1n any region.
D. f{z) = sin 7 1s unbounded function.
E. f{z) = cos z is bounded function.
Choose the most appropriate answer from the options given below :
(1) A, B, E only
(2) A, C, E only
(3) D, E only
(4) A, B, C,Donly
(1) 1
(2) 2
(3) 3
(4) 4

fiz) =z @@= & vzeq |

fiz) = z, foReiffe 78T & vzeg |

fiz) =22,z = 0 W 3adberetia ¢ g 5t o a7 & ol &t ¢
f‘(z]*mnzmﬂﬁﬁﬁwgl

f(z) = cos z, ATGE Heret I
mﬁﬁvwﬁm‘rﬁﬂmmmwwﬁﬁw

(1) &ad A, B,E

(2) Fad A, C.E

(3) Faa D,

(4) &ad A,B,C,D

Mmoo w

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3045]
2[Option ID=3046]

3[Option ID=3047]
4[Option ID=3048]
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w2
Value of the integral L log tanxdx is

(1) Zero

(2) T
£

(3) T
4

(4) o0

1) 1

(2) 2

3) 3

(4) 4

FAS [ log tanxdx T AT ¥

B aly NN :“j’

(4)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3049]
2[Option ID=3050]

3[Option ID=3051]
4[Option ID=3052]
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What 1s the value of

3) 3

l 1 + . + . -
Im r r - r
e LR+ TR " + 22 m + 3
(1) log 2
(2) A

5 log 2
(3) log 3
) 1

2 log 3
(1) 1
(2) 2




(4) 4

; 1 2 3 1
n'L""T [ng + 12 * 2 + 22 + n2 + 32 Tt 2,—,] H A FATE ?
(1) log 2
2 1
@ EIQQE
(3) log 3
(4) 1

— |
> og 3
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3053]
2[Option ID=3054]
3[Option ID=3055]
4[Option ID=3056]
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- -] ==

LR
Value of the double integral I f gx v dx dy, 1s
0

0

(1) T

3

(2) 1

6

(3) T

4

(4) F 4

8
(1) 1
(2) 2
(3) 3
(4) 4
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L
i
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(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=3057]
2[Option ID=3058]
3[Option ID=3059]
4[Option ID=3060]
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The formula of volume in spherical coordinates 1s

(1) d“fj,:silledrded“

‘JFIJ. sin @ dr df de

S dFJ‘J‘ dr dg de
i ;J.J.r“drdedﬂ

(1) 1
(2) 2
(3) 3
(4) 4

Tﬁ?ﬁﬂﬁﬁﬁmﬁmﬂﬂj?

- Jpjjr:sinedrdedu

.JFJ\J‘ sin @ dr d6 de

{3} uﬂjjdrdedu
Y .JFIJ‘rBdrdedﬂ

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3061]
2[Option ID=3062]
3[Option ID=3063]
4[Option ID=3064]
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The formula for the volume of the solid generated by the revolution of the area
bounded by the curve r = f{@) and radii vectors §=0; § = B, about the mitial line
(B = 0) is equal to

M) jﬁ?—fﬁ sind de
{3 3
2
S IIEr?’n:u:we‘..'ﬁl' deo
3
@) [ 27 3 sin’ 0 dO
fr3 3
@ rﬁz—ﬁra cos® 0de
{3 3
(1) 1
(2) 2
(3) 3
(4) 4

o r=f() 7T F=ar Ffevitg=o; 9= B.E@RT A & H GRfES @
(0=0)%F =Ri 3R gAE & SfAd 39 & Faa F fav g7 ¢

M) f”z—”rs sin@dé
ix 3
'Jl P
@) _['s zira, cosd de
ix 3
&) #2% .5 sin*o do
[¥3 3
*) j” 28 13 sos? 00
i 3
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3065]
2[Option ID=3066]
3[Option ID=3067]
4[Option ID=3068]
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The length of the arc of the curve x = f{t); v = a(t) between the points fromt=a to
t=b, is equal to

1 ;
{ } J‘I.\[d_x N ﬂ]] __dt
dt dt

a

LT+
O LAY A

(4)

1) 1
(2) 2
3) 3
(4) 4

gk x=f{thy=o)H t=a@ t=bds & g3l & &rag & =9 H a3 &

“} J.I*[d_x g d_yj|1hdt
dt dt

E|

NGRS

a

SO C g
(4) J,..[1 . (%]] .

=

(2)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3069]
2[Option ID=3070]

3[Option ID=3071]
4[Option ID=3072]
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Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A :
* xz 2 s
Area bounded by the ellipse = + L =1,is nab.

b?

Reason R -

Area 1s defined as II dx dy for the region R.
R

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A 1s not correct but R 1s correct

1) 1

(2) 2

(3) 3

(4) 4

A A Fua Re aw § @ v @y A w0 A Rfga ¢ O qE @
FROT RF FT H
3HFYT A -

i§+5=laﬁmqﬁﬁiﬁﬁmﬂmﬁmbgl

=)

HNCT R :
R

mﬁw#mﬁ.mﬁwwﬁmﬁﬁmzﬂwmm
o Sifae

(1) AR R @Y € IR R AS 7 e #
(2) A 3T R wEY & 9T R A Fr Y s A6 £
(3) AT & ofhT REET €T &
(4) ATErsTar g aifesT REET &
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3073]
2[Option ID=3074]

3[Option ID=3075]
4[Option ID=3076]
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Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R
Assertion A

e 3
The derivative of F(x) = j” cost’dt(x>0)atx=11is 5 cos 1
Reason R :
d b(x)

Since gy il fit) dt = fid(x)) - f(Y(x))

In the hight of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A 1s true but R 1s false
(4) A is false but R is true

(1) 1

(2) 2

(3) 3

(4) 4

A g +ue fev v £ WM{AsseniunA}ﬁmﬁﬁﬁaﬂ?m
qalr 38 HNOT (Reason R) & & H

FifAFyT A ;
Fo)= [ cos € dt (x> 0),# x= 1R 5 cos 1§
1/%
&INTT R
d hix)

T gy Jyoo 10 dt= 1P - (W)
3IRIFd FUA & Helrs A, 7 GU 77 Fehedt 7 § F1 3 & =41

(h AR R e & 3R R, A 1 w5 e

() A 3R ReET wca &, afheT R, A &1 @Y sarear ¢ §
(3) AT g, o R3\cT &

(4) AFEE BT RAEH £

(1)
(2)
(3)
(4)

A W N =

1[Option ID=3077]
2[Option ID=3078]
3[Option ID=3079]
4[Option ID=3080]
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If z = f{x, y) 1s a homogeneous function of x, y of degree n, then

A,

B.

(1)
(2)
(3)

X =yt = 0
ax Yy
z=x @(1]
X
0z az
X — =Nz
daXx ay
9z 9°z oz
ax Y axay T Moy
9z 9%z 3%z 9z
— +X_g +Y =n
ax dx oxXoy dXx
Choose the correct answer from the options given below :
A, B, D only
A, C, Donly
B, C, E only
A, B. E only

4

(1) 1
(2) 2
(3) 3
(4) 4

Al z=1(x, y), x, y H n°Gd H FHAAS Gl & dd

Al

B.

(1)
(2)
(3)

2z
dX

oz _ oz _
X yay a
z = x"@(i)
X
o0z 0z
X— + y— = nz
X ay
9z 9%z oz
X axay  ay
9z 9%z 3%z
JEE— —2 +F =
3 X 3 X IXay
A BT v et & & 98 33 &1 gae fifew
#Fad A.B.D
#ad A.C.D
¥aeT B,C,E
#ad A.B. E

(4)

(1) 1




(2) 2
(3) 3

(4) 4

1[Option ID=3081]
2[Option ID=3082]

3[Option ID=3083]
4[Option ID=3084]
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The bending moment M of a beam 1s given by L:i_M =—w([ — x), where w and [ are
X

1 a4 § E .
constants, Forx =0, M = Ewe", then determine M 1n terms of x.

(1 % w(l — x)*
@ - ; w(l—x)
&) 3 w(l — x)
* - % w(/ +x)

(1) 1

(2) 2

(3) 3

(4) 4

frdT € @1 dehet 3THOT mm%%—_wu_x}mﬂﬁ w e | s
£ x-0% fav M—%wflﬂ_ﬁ’ M® x¥ &7 & A ST |

(D ; w{e’—x]l
@) = % w(l — x)
3 - wi(l—x)
&) ~ % wil +x)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3085]
2[Option ID=3086]
3[Option ID=3087]
4[Option ID=3088]
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The solution of the differential equation 32—2 —4y=xsmnh x 18
X

(1) Y=+ e~ X sinhx- 2 coshx
'J .
(2) y=cie = (;ze'v' + % sinh x — -g cosh x
{3} Y= C]Ex + C]E- edet E sinh x — -g cosh x
3 9
@ yeaerar® - Xnhxr 2 coshx
(1) 1
(2) 2
(3) 3
(4) 4

mmﬂf—z—4}'=xsinhxﬂﬁ%
X

M y=cie "+ — % sinh X — LS cosh x
3 9
(3) y=cie +ce - % sinh X — 2 cosh x
4) y=ce®+ce *— X sinhx + 2 cosh x
3 9
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=3089]
2[Option ID=3090]
3[Option ID=3091]
4[Option ID=3092]
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The integrating factor (IF) of the differential equation

e~2Vx  y |dx
vx Vx | dy

= 1is:

) 2VX
@ g 2Vx
3 V%
@) & V¥

1)1




(2) 2

(3) 3
(4) 4
e”2Vx y ldx _ : ¥
Hasd THDIU ﬁ \E dy &l HHATHelh ?I“'IT:F (IF)
(1) g2 Vx
(3) evx
{4} E_ '\E
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3093]
2[Option ID=3094]
3[Option ID=3095]
4[Option ID=3096]
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The integrating factor of the differential equation x dy — (y + xy*(1 + log x)) dx = 0 is

(1) X
) X’
(3) log x
(4) e’

(1) 1

(2) 2

3) 3

(4) 4

Ak HHUT x dy — (v + xy(1 + log x)) dx = 0 & HHHH 0T &

(1) X
2 x*
(3) log x
(4) e’

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3097]
2[Option ID=3098]
3[Option ID=3099]
4[Option ID=3100]
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QBID:1032051
The Wronskian of the functions 1, sin x, cos x 1s
(1) 0
(2) 1
(3) 1

() =

1) 1
(2) 2
(3) 3
(4) 4

Tl 1, sin X, cos x T JedhTT BT
(1 0

(2) 1
(3) 1
2

(4) -1
1) 1

(2) 2

(3) 3

(4) 4
1[Option ID=3101]
2[Option ID=3102]

3[Option ID=3103]
4[Option ID=3104]
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The orthogonal trajectories of the family of curves " = asinnB 1s

(1) "=bsinnB
(2) r"=bcosnB
(3 r=bsinnB
(4 r=bcosnB
(1) 1

(2) 2

(3) 3

(4) 4

TRl ' =asinn@ F Fel F AifaH TEIU-IY §
(1) r"=bsinnB
(2) r"=bcosnB
(3) r=bsinnB
(4) r=bcosn0
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=3105]
2[Option ID=3106]
3[Option ID=3107]
4[Option ID=3108]
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The complete solution (CS.) of the differential equation
dy &y 9

—= + — + 4 + dy = 0Qis:

dx*  dx® dx 4

(1) y=cje"t+tecrcosx +eysinx
(2) y=cie “+eacos X+ casin X
(3) y=cre ' +cycos 2x + c3sin 2x
(4) y=c e" + ¢y cos 2X + ¢3sin 2x

(1) 1

(2) 2

(3) 3

(4) 4

Py dFy dy
Hadold FHFRIOT —- + —L =¥ — 0 FT THT CS.
dx?® ¥ dx® * ddx Fay =0 & (CS)®

(D }r'_C]Ex+C3€USK+C35iH_X
(2) y=cje “+cyeos X+ casinx
(3) y=cje  +cacos 2x + cysin 2x
(4) y=c¢ e" + cycos 2X + c3sin 2x

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3109]
2[Option ID=3110]
3[Option ID=3111]
4[Option ID=3112]

Sl. No.79
QBID:1032054
d’y d .
The particular integral (PI) of the differential equation 2—{ L4 3y = 56! i
dx®  dx
given as
{_l) XE--IE-ll'L'
{2) EI'.".--E:IJ.'
{3) xe[.-'!- 2
{4) e (3 2)x
(1) 1

(2) 2




(3) 3

(4) 4
d’y dy (3/2)x
Hasd FARIOT EF—d——3y=5e Fr @t @A (P '
X X

( 1 } XE‘i 32

{2} e[3--2].1.'

(3} xet.’%-‘Eh‘

{4} e (32)x
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3113]
2[Option ID=3114]
3[Option ID=3115]
4[Option ID=3116]

Sl. No.80
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Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

Assertion A ;
dy
dx*®

The solution of differential equation

+ 4’3!’ = Qiscie™ + e ™

Reason R :

If yi(x) and y2(x) are any two solutions of the differential equation

&y

dx?
where ¢, and ¢, are constants, 1s also a solution of the differential equation.

d
+ a, (:-:} d—i + 82{?(] y = (. then their linear combination c1y1 + cay2

In the light of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A
(3) Al is true but R is false
(4) A 1s false but R 1s true

(1) 1

(2) 2

(3) 3

(4) 4




A af Fya Rw 71w § @ v 3wy AS w0 A f@T § a qEwr 3§F
FAOT REF &7 H
HBFGT A -

&
maﬁwurd—;; ES 4‘,!’ = 0FT & & cie™+ce ™

HNCT R -

d? d
afe yi(x) T ya(x), HaHol m:hwm—y + a,[x}d—i +ax)y=0%

dx?
F15 o 2 g1 & dd 3T W @IS ¢y + caya, @l ¢, a0l ¢, (B0 g,
sft aFd GHROT FT UF BT £ |
Iqlad FUT & 3ellsd A, AT U 1w [sedt & & ¥ 397 &1 994

(1 AR REE w7 € 3T R A Fr 6 carear §
(2) A 3R R & @cg €, offha R, A &1 98T carear g &
(3) ATeT & T R3ET &

(4) A 38T ¢, olfehed RET §
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3117]
2[Option ID=3118]

3[Option ID=3119]
4[Option ID=3120]

Sl. No.81
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Given below are two statements :
Statement [ :

M _ N

In the equation M(x, y) dx + N(x. y)dy =0.1f ay ~ 3x isa function fiy)ofy
N

only, then Ej f(y) dy is an integrating factor.

Statement 11 :

M _ aN

d d X
In the equation M(x, y) dx + N(x, y) dy = 0, 1f Y M 1s a function f{y) of y

only, then eJ f(y) dY is an integreting factor.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both statement [ and statement 11 are correct
(2) Both statement [ and statement Il are incorrect
(3) Statement I is correct but statement I 1s incorrect
(4) Statement I 15 incorrect but statement 1 1s correct
(1) 1
(2) 2
3) 3
(4) 4
A & Fya g v €
#HEeA [
M _ aN
afe TFoT M(x, y) dx + N(x, y) dy=0F a3y dx Had yHl THh Heled
N
f(y)d
ﬂiy]ﬁ’f.a‘a'e‘[ ) 9Y o HHAHSH AU §
e [l :
aM aN
ay  ax
THFIOT M(x, y) dx + N(x, y) dy = 0 7 afe m hadl yFH TH

FleT fly) 8, a9 ol 1) dy v TATHEF OTF &

3WIFd HUA $ el A, A QU a0 Avedt # & Fa8 39gFd 3R I
g4 HIfFT

(1) FUT 13X FUA 11241 Tgr &

2 FYUeT 1 3R FYA 11 =t o §

(3) FU 1T &, oAfhaT FUT N 1T &

(4) FYT 137090 &, AfheT FUT 1T &




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3121]
2[Option ID=3122]

3[Option ID=3123]
4[Option ID=3124]

Sl. No.82
QBID:1032057

Match List I with List 11 :

List I
Differential Equation

s %—ﬁ=e&‘lx+1}

B % . %z 2

e 1_2:—;—yx“=y3

D. (x*y — 2xy")dx — (x* — 3x*y)dy = 0

IL.

L.

V.

List II
Integrating factor (IF)
1

x2}|.2

X+ 1

Choose the correct answer from the options given below :

(1) A-IL, B-1, C_IV, DI
(2) A-IV, B-II, C-I, D-III
(3) A-1, BIII, C-IV, D-II
(4) A-IV, B-II, C-IIL, D-1

1) 1

(2) 2

(3) 3

(4) 4




ol ol
Hadholsh HABLOT THTES AUH (IF)
A d I i
Y }"‘ - eﬂx {}{ + 1} -
dx X+ 1 X<y
B -2 I1 "
y- 3‘ ﬂ + L — }(2 x
dx X
2
dy
D. (x*y — 2xy )dx — (x* — 3x*y)dy =0 IV. 1
X + 1
A e 1w fAsedt # & @6 3¢ & 9397 fIfAT
(1 A-IL B-I, C-IV, D-III
(2) A-IV, B-I, C-1, D11
(3) A-1, B-III, C-IV, D-II
(4) A-IV, B-I, C-I1, D-1
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3125]
2[Option ID=3126]
3[Option ID=3127]
4[Option ID=3128]

SI. No.83
QBID:1032058

Value of 72 (1 ) is

(1) m+3)"°r
(2) fn-3kE < F
(3) nn+3)"2r
(4) % el ]

(1) 1

(2) 2

(3) 3

(4) 4

T2 (" 7)F AR

(1) m+3)r"*F
(2) m+3)r"'r
(3) nn+3)Hr"ir

(4) nr" F




(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=3129]
2[Option ID=3130]

3[Option ID=3131]
4[Option ID=3132]

Sl. No.84
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(3, 4)
Value of (6xy” — y') dx + (6xy — 3xy’) dy is
(1.2
(1) 206
(2) 136
(3) 216
(4) 236
(1) 1
(2) 2
(3) 3
(4) 4

3. 4)
f {ﬁxy: —y)dx+ {ﬁ.‘-\':y - 3x}f:,1 dy &l Al t
(1.2

(1) 206
(2) 136
(3) 216
(4) 236
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=3133]
2[Option ID=3134]
3[Option ID=3135]
4[Option ID=3136]

Sl. No.85
QBID:1032060

If¢ = KZ}JZJ and A=z - yzf +2xﬂyﬁ , the value nfcurl(;ﬁﬂ) is

(1) (dx'yz’ + 3 xy'7) T+ (@x’y2 - 8x°y'2) | - (2xy’Z + X2 Kk
(2) ax*yz} [+ 4yZ | - 2xy’ L k

(3) (Ax*yz’ - 9x’y'z) | + (4x’yZ’ - 8x%yZ’) | - 2xy’Z’ + x’20) K
(4) Xy i +4x’y2 | +x°2 k




(2) 2
(3) 3
(4) 4

uﬁ@—xﬁ-z‘aﬁn A=xzi —y*j+2xtyk , curl(pA) F1 AW E

(1 {4);4:,-'23 +: 2 xzyszz} i+ {4:{3:,-'23 Bx33'323} ] {2:{}"1"23 + x324} k
(2) dxtyz 14+ ax’yz’ j 2xy'z’ k
(3) {4):4:,-'23 9}{1},}2} i+ (4}{3}'7_3 Exzyz}’} ] {2?{}?32'1’ +x°7) k
4 y'Z 1 +4ax’yz j +x*2'k

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3137]
2[Option ID=3138]
3[Option ID=3139]
4[Option ID=3140]

Sl. No.86
QBID:1032061

X
The value of ?2 {“I_“j') 15

(1) 3
(2) -3
(3) 0
(4) I

(1) 1
(2) 2
(3) 3
(4) 4

W(%)ﬂ A §
(N 3
(2) -3

(3) 0
(4) 1

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3141]
2[Option ID=3142]

3[Option ID=3143]
4[Option ID=3144]




Sl. No.87
QBID:1032062

What 1s the value of J.J.{KE + }‘2} dS, where S is the surface of the
paraboloid Z = 2 — (x* + y°) above the xy plane ?

(1) 1497
6
(2) 1397
30
(3) 1497
30
(4) 139
6
1) 1
(2) 2
(3) 3
(4) 4

ff(x;-' + y%) dSH AT FT §, G STWaTAz = 2 — (% + ) & xydT ¥
FI H I56 ¢ ?

(1) 1497
6

(2) 1397
30

(3) 1497
30

(4) 1397
6

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3145]
2[Option ID=3146]
3[Option ID=3147]
4[Option ID=3148]

SI. No.88
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Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

Assertion A :

The vector field v =—(x +y + 2) i— 2] +{x+y) k is solenoidal.
Reason R -

If div( vV ) = 0, the vector fieldV is said to be solenoidal.

In the light of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A 1s true but R 1s false
(4) A 1s false but R 1s true

(1) 1

(2) 2

(3) 3

(4) 4

A= & Fue U a0 § ;U HFFUT AF 9 A @ § @ gEw 39
FROT RF 7 A

FHFEFYA A -

afey &7 v =— (x +y+2)i-2] +(x +y) k aRenfodra &

FNUT R :

afe div(v) =0, g a@feer & v aRafada Fgamar &

IqFT YA & Aol A, A1 BT 710 Aewedl #§ § ¥ 31 &1 994

(M AR R wex & T R A Hr 7 mE

) AR REET G §, afFT R, A &1 a8 sarea 79 8
(3) AT & afhT R3ET &

4) A 3EcT ¢, ofhed RET §

,\
W
o

A W N =

(4)

1[Option ID=3149]
2[Option ID=3150]
3[Option ID=3151]
4[Option ID=3152]

Sl. No.89
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Which of the following are correct?

A
B
C.
D
E

If |_:' 15 a vector field, § , I_:' 1s a vector field.
If F is a vector field, § x rf 15 a vector field.
If F is conservative, ¥ x F = 0.

Curl(div l_:.} 1s not a meaningful expression.

If F is conservative on a simply connected region D, there is some
e
function on D such that V f= F.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

A, B only

A, B, C only
B, C, E only

B, C, D, E only

P A sl g

W g [

afe Fos afewr &9 8, v | F o afewr a9
afE F o | &1 &, v x F U Wiew & ¢
afg Fael & v x =0

Curl(div F) 3riqoT =Iord =t @

afe F a@tel & v 819 DR, dd D S $oded { Helaw afes
Vi=F

A fer arv fEwedt # & @8 39 F1 93 fifFv

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Fad A, B
Faa A, B, C
Fad B,C.E
Fad B,C.D.E

1[Option ID=3153]
2[Option ID=3154]
3[Option ID=3155]
4[Option ID=3156]

Sl. No.90

QBID:1032065




Match List I with List 11 :

List 1
l'.:)[:nE:ratCrr1 on functions
A. grad (xy~) L
B. uurl{zxzi+y1] +z k) =
c: curl (gradi(xy)) II.
D. div (x’y* i + 2xz ] +e7 k) V.
Choose the correct answer from the options given below :
(1) A-1, B-IIL C-IV, DI
(2) A-IL B-IL, C-1, D-1IV
(3) A-IIL B-IV, C-I1, D-1
(4) A-1 B-IV, C-II1, DI
(1)1
(2) 2
(3) 3
(4) 4
T 1% @ g 1 e R
qr 1
TFRFH
A. grad (xy’) L
B. curl (2 i +y ] +zk) IL
C. curl (grad(xy)) I11.
D. dlv{xy i +2xz]+e}7k] Iv.

A U v BFeat # @ 98 331 #1939 fifew

(1) A-1, B-IIL C-IV, D-1I
(2) A-IL, B-III, CI, D-IV
(3) A-IIL B-IV, C-IL, D-1
(4) A-1, B-1V, C-III, D-TI

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3157]
2[Option ID=3158]
3[Option ID=3159]
4[Option ID=3160]

List I1
Values

2 Z
2xy +ye’

0
if + ] (2xy)

3%
X )

T
2xy” + ye¥*

iy +] @y

x|

Sl. No.91
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A feasible solution to a linear programming problem

(1) must satisfy all of the problem's constraints simultaneously.
(2) need not satisfy all the constraints, only some of them.
(3) must be a comer point of the feasible region.
(4) must optimize the value of the objective function.
(1) 1
(2) 2
3) 3
(4) 4
U (@ FACIA FFAEIT & Ua A3ed gl &l
() st FEEA-ACt F UF WY FC BT AR |

2 @ Ml T FIST FLEAT HEWTH QI ¢, 304 & Fao FO |
(3) HAET &7 F TF g fig gl =R |
(4) 362RT Gl & HI I FSCAH FT TIRT |

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3161]
2[Option ID=3162]

3[Option ID=3163]
4[Option ID=3164]

Sl. No.92
QBID:1032067

Which set of the following 1s a convex set 7

(l) {{X], X]} E R:|21|_+4}{: E 4’ Ex] +}i3 E g}
= ((xi. %) € B[ X5 +%5 < 1.X] 2 xo)
{3) {{Klu X:} = R:|—?‘.l_'.\'3+1 = 0: X, X2 = [}}
{4) {{xlq XZ} E Rll Kl"'}{:i 4" X]-"‘-IE 1; Xq, X2 2 ﬂ}
(1) 1
(2) 2
(3) 3
(4) 4
T FHeaal # FlA-A1 IJ9HT FHIT § 2
(1 (g, %) € Rll 2% +4%: < 4, 8% + X2 < 8!
y. o 2
@ {(x1,x2) €ER° K?+)<g =1,X] = x2)
@) f(x1,x2) € RI|—xlx3+| = 0;x, X2 = 0}

@ {(x1,%) € R xi+ %S 4, xS 15x,% = 0}




(1)
(2)
(3)
(4)

A W N =

1[Option ID=3165]
2[Option ID=3166]
3[Option ID=3167]
4[Option ID=3168]

Sl. No.93
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For the linear programming problem Max z = x + 3y, the coordinates of the corner
points of the bounded feasible region are A(3, 3), B(20, 3), C(20, 10), D(18, 12) &
E(12, 12). The max value of z will be at the point

(1) (3.3)
(2) (20, 3)
(3) (12, 12)
(4) (18, 12)

(1) 1

(2) 2

(3) 3

(4) 4

T FAGAA FAEAT Max z=x +3y. & fow. aag &7 & FiiT fagat &
fAdemss A(3. 3). B(20. 3). C(20. 10), D(18. 12) 2T E(12.12) & | z T 3if8ad
AT fAFT fag oX ghm |

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3169]
2[Option ID=3170]

3[Option ID=3171]
4[Option ID=3172]

Sl. No.94
QBID:1032069




Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A ;

Some linear programming problems have more than one optimal solutions.
Reason R :

If the feasible region of a linear programming problem 1s unbounded, it must have
more than one optimal solution.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A 1s not correct but R 1s correct

1) 1

(2) 2

(3) 3

(4) 4

A & Fud U aw § ;v AFFYA AF w9 H Of@d @ O g 38F
FNUT R &7 A

HIFFYT A :

$6 W HACYA FAEIE & Th & it g5ead g @ ¢ |
FHRUT R -

Ife T HACUA FHET A AT &7 UGy g, dr 366 U6 ¥ e
§SCaA g @il =gy |

SWIFd FUA F Holsh A, A foT 30 Fhedt # § Fa9 39GFA 3R H
TIT AfST

(1 AR R TE & 3R R AH T e §

(2) AR R @ & afa R, A & @ e A §
&) ATE B AfFT RES A ®

(4) ATH 78T § dfhd RTET &

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3173]
2[Option ID=3174]

3[Option ID=3175]
4[Option ID=3176]

Sl. No.95
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Given below are two statements :

Statement 1 :

Every LPP admits a unique optimal solution.

Statement 11 :

The set of all feasible solutions of a LPP may or may not be a convex set.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I 1s correct but Statement 11 1s incorrect
(4) Statement I 1s incorrect but Statement 11 15 correct
(1) 1
(2) 2
3) 3
(4) 4
A &Y FyeT fqu v § -
E/E
Ucdeh LPP & Ueh 31T SS¢aH &l Heldl & |
&= Il :

U LPP & W3 THET goil &7 A=Id U NaA@ A<ad & o aFar &
il 3 2 bl

3WIFd FYA & el A, A0 QU 710 Ashedt A € Fad 39gFd 3o H1
g HIfae :

(1 Fua 13T Fua 12 wér g

2) Fua 137 Fya 181 o §

3) U 1HEY &, fheT S 11 700 &

(4) FYT 137090 &, AfheT FUT LT &

~~
W
Nt
A W N =

(4)

1[Option ID=3177]
2[Option ID=3178]
3[Option ID=3179]
4[Option ID=3180]

Sl. No.96
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Which one of the following 1s a linear programming problem 7

A max 2x,; + 4x,; subject to, X, + X2 =Z4x.x=0
B. min 2x; + 4x3; subject to, X; — x> S4x,x =0
C. max X;; subject to, [x;| + |x2 S4x.x0=0
D. max K%; subject to, K% +8: =24, =0
E. max X;X»; subject to X; + X2 B4x,x=0
Choose the correct answer from the options given below :
(1) A, C only
(2) A, D only
(3) C, E only
(4) A, B, C only

(1) 1

(2) 2

(3) 3

(4) 4

T 7 @ Fla-d v W@ FAyET gEET € 2

A max 2x; + 4% FHT 5+ = 4: %, =0
B. n1in2xl+4x3:3ﬁflﬂ X —X 2 4;?{1*?&3:—’ 0
C. max X,; JeT x|+ o] = 4x,x, =0

D. maxx?;}l?.ﬂﬂxf+ﬂx354;xhxg =)

E.

max XX FHT i+ =4 x.0:=0

A T v AEeut & @ 9 39 #1 9ma fifew

(1) Faa A, C
(2) Fael A, D
(3) Faed C,E
(4) #Fasd A, B, C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3181]
2[Option ID=3182]
3[Option ID=3183]
4[Option ID=3184]

Sl. No.97
QBID:1032072




Match List I with List I1 :

List 1 List I1

Convex Set No. of Extreme Points
A, S]T:{thg]:x?ﬂ'xg = 1} L 3
B. Sop={(x1,%2) : 2x) + X2 < 4; X3, X2 == 0} II. infinite
C. S:={0g x; <40 < x < 4} . 5

D. Se={(X5,X2): X1 +X: € 6;2x, -, = 6, [IV. 4
X2 < 4; X1, X2 = 0}

Choose the correct answer from the options given below :

(1) A-IL, B-1, C-III, D-1V
(2) A1, BIL, C_III, D-IV
(3) A-IL B-I, C-IV, D-III
(4) A-IV, B-1, C-II, D111
(1) 1
(2) 2
(3) 3
(4) 4
gl 1 @y g O H Ao hifaw
T 1
o,

JaHE HHOT
2

P

= {(X1.X2) : XE +X, < 1}

B. ={( ,X0) 1 2X; X < 4: X1, X = 0}

L. S5 = 0sXx1<4.0< X < 4}

D. S4={(X1.X2) X1 +X 8 6:2X1 - X S 6;
X =< 4: 1. X0 > 01

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3185]

II1.
IV. 4




2[Option ID=3186]
3[Option ID=3187]
4[Option ID=3188]

Sl. No.98

QBID:1032073

In the differential equation

Mmoo

L

The value of Wronskian of the solution 1s e

d'ju’ eﬁ-x
dx Ll %2
o

¢’* and xe™ are two linearly independent solutions of the differential equation
PI=e"(logx+1)
W =e ®, W = Wronskian of solution of the differential equation

PI=—e™(logx+1)

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
4

(1) 1
(2) 2
(3) 3
(4) 4

3Wwdﬁ dy B
dxg_edx S £ xzﬁ

B, C only

A, B. E only
B, C, D only
A, C,D only

& F TAOTFTT FT AT & &
e TUT xe™* 3ahel HHIHIOT F &I, ThaTdid F&d9 & &

W=e ™ W =3dhd THHT & gd & Toedihdd ¢

A
B
C. PI=e(log x + 1)
D
E

PI=—¢e™(logx+1)

A QU v fAwedl # ¥ @AW 3UGFd 30X F TIA HIAT

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

Fad B, C

Faad A.B.E
Faa B,C.D
#ad A.C.D

1[Option ID=3189]
2[Option ID=3190]
3[Option ID=3191]
4[Option ID=3192]

Sl. No.99
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Given below are two statements :

Statement 1 :

In a linear programming problem, more than one degenerate basic feasible solutions
may correspond to the same corner point.

Statement 11 :

The system of equations X; +X> + X3 =3, X — X2 —x4 =0, X1, X2, x3 2 O has 3
degenerate basic feasible solutions.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both statement [ and statement Il are correct
(2) Both statement | and statement Il are incorrect
(3) Statement I 1s correct but statement II 1s incorrect
(4) Statement I 1s incorrect but statement I1 1s correct
(1) 1
(2) 2
3) 3
(4) 4
A & Y fer 7w §
#HeT [

U YT FARYA FHET # UF F 30 39srse 3mard 6T g4 U &
A & fbig W A a6 § |

FT I :

AN x; +x0+ %= 3. %1 - X2 - X4 = 0, X1, X2, X3 = 0F HHAG F 3 HYHC
Ferdy §HET & E |

W FYA & ol A, A QU 310 Awhedt # & Fa9 39gFd I F
Ta FfeT

(1 Fu 131 Fue 11 Wl §
(2) Fud 13 Fu 111 7o §
(3) U 1HEY &, et FU 117700 &
(4) FUF 17160 ¢, Afched HUF U TE ¢

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3193]
2[Option ID=3194]

3[Option ID=3195]
4[Option ID=3196]
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Match List I with List 11 :

L
IL.

1L
V.

List II

convex function

concave function

both convex and concave function
neither convex nor concave

List 1
Function
Al fix,y)=2x+ 3y
B. fix,y)=xy-1
C. fix,y)=x"+y —1
D. fix,y)=—x"-y
Choose the correct answer from the options given below :
(1) A-1, B-III, C-IV, D11
(2) A-IIL, B-11, C-1V, D-1
(3) A-1, B-IV, C-I1, D11
4) A-IIL B-1V, C-1, DI
(1)1
(2) 2
(3) 3
(4) 4

= 1 @y G 1 A A

o 1

heled

fix, y)=2x + 3y
flx, y)=xy-1
fix,y) =x"+y' -1

S 0w p

fix,y) =—x" -y

L
IL.

I
Iv.

T
aor

P

3EHE Holel

3@ Bol

alel AT TUT 3eHE Herd
o df 3EaE 3R A 3o

A BT v BEeat # @ 98 33 #7199 fifew

(1) A-L B-IIL, C-IV, D-1I
(2) A-IIL B-I1, C-IV, D-1
3) AL, B-IV, C-III, D-II
(4) A-IIL B-IV, C—1, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3197]
2[Option ID=3198]
3[Option ID=3199]
4[Option ID=3200]




